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The figures in the margin indicate full marks
for the questions.

1 carries 1 mark each - | 1x12 = 12
. 2 carries 4 marks each . i ix4 = 16
. 3 carries 6 marks | o 6x1 = 6
. 4 carries 2 marks each 2x3 = 6
. 5 carries 3 marks ‘ 3x1 = 3
. 6 (1.& b) carries 8 marks 642 = 8
. 7 carries 4 marks . 4x1 = 4
. 8 carries 4 marks 4x1 = 4
. 9 carries 4 marks 4x1 = 4
. 10 carries 3 marks 3x] = 3
. 11 carries 6 marks 6x1 = 6
12 carries 3 marks ax] = 3
13 carries 2 marks eacl | %2 = 4
14 carries 1 mark each 1x3 = 3
15 carries 1 mark each 1x4 = 4
16 carries 2 marks each 2x2 = 4
5, 17 carries 10 marks 10%1 = 10

Total = 100
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1. Answer cach of the following, questions by writing, only the act’ulal correct

word as directed : 1212=12
Rofiai Nwa eofm sreia Team (@ 2g@ @) 9% 9 E

(@) The ‘Raghuvarnéam’ is a Kdvya/ Khandakavya/ Mahakavya.

(Choose the correct answer)
FEC GF0 1) /DGR /TR | (w7 Tean (g 1S)
(b) Write an equivalent word of ‘ 217 %g "

TR iod G0 Ao T |

(c) The ’ér‘fmadbhagavadg?ta" is based on the of the
Mahzabharata. ‘ (Fill in the blank)
‘ursrvel’ TEeRred B widifis |

(g 7o )

(d How many verses are there in the Second chapter of the

‘Srimadbhagavadgita’ ?’

< AEeRETeA Ao St FolE A SirR?

(¢) Write an epithet of F0N as you find in the prescribed text of the
‘Srimadbhagavadgita’.

‘Srsraiera Fifd@ e m@ﬁﬂw Qg o wfSar A9 @l |
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) What i - )
( 1t is the source book of the drama ‘Naganandam’ ?

R ABala Tt g Ay

) Who. is meant by ‘sifgfgu.’ 2
SfefEn:’ @@ @it @riEn e

| () Write a Sanskrit equivalent word of ‘W@,

greraree 2l @ft g el el |

(i) In which year was ‘The Assam Sanskrit Board’ established ?
T IS (A’ e afdl =1 wafeA

(i) Who was famous as ‘3T[&Hfa:" 7.
‘eyERia: A @ A e

(k)  Who is the author of ‘g TR ?
‘T TTHICTATR I <43 AZHE (2

()  Bipin Chandra Goswami composed e FHEA /FAATCETHI |

(Choose the correct word)

BFmpE (AR ST T ol i |
| ‘ (8% TEET g 718)

3
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Franstate four of the lollowing, taking one from cach part :

4%4=16

Mulife el v cles @@ we i b WA Al g

Part 1/ &9 o
() ai A whnger
feord s e e nifise
ferw femanseamrofian

SgrherAn wufr o

(b)  guEmERfE G
arrerelamafsryen |
s den st
WRIFFGE Hergh |
Part 11 / oS wiex|
() AR e raepame
AA weddlded wmeEfie g |
() wNvIRNE TR
ywsin @i @R |
ey enfaife g o
furarrdsé wfy i @i wosm )
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Cart 1T / T8 aeH

@ (SR [, s wwvatafn 2 fedes s pagea faEfddsta
TR ? ¥ Sarieas | wufeH! o Fvmeddd fawdil sees 51
T @ o ? & wat sewfr | (el Teafd)

O (TEE W WE) $R gEs, 7 3 fauceEaE  wdee -
TARYEIIE SgAefa S | (9l wiae) q8a faereda | Sigal aEA=ed |

Part IV / 594 o2

(@ FTR TFa-Tamr § UEd Taied @ | Tl Teasiade gaiem-
- YA E TR YIeureT: EE | T YSid: e Hepa-qeury
EECITg] ‘

() eyt faemmemds fafkaml gwpaatesar e AARUHS el
@@Wﬁiﬂﬁﬂﬁf?ﬂﬁiﬁﬂﬁeﬁwam; ==t
Teq T SRR | FEER- - T S-S

Tafaad |
3 Explain with reference to the context any one of the following verses :
1+1+4=6
emffae (7 @A ¥ CAd oS AAE AR0T T 2
(n) Rttt LR
EropLis i CEERRIEI
U ECRILIEES
THaed THeRl el sTHET i |
(51 ' ] "Contd.
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£ N V. . ayyerned e oy g
(1 TR L \‘;.hn,lﬂ':w,'l"a-

" ‘-\ oy . R LlEetT ¥
3‘-\1\-\411,'\;3\" d'ezvh-i‘d'f‘{!

WIS jiEnt ™ ﬁi‘ﬁ\’{:

SEERIR SRRt B

(" Account for the case-ending in ‘Hfg=1" in Q. No. 2(n) and ‘T’ in

Q. No. 2{b). 1x2=2

o, N

T 2(a)-CO AT HEE @R 2 AT 2(b)-CF AR " o wiow
:Ecl@_ ﬁ‘ﬁ <E|

(8)  Derive "#i#¥ T4:" in Q. No. 2(c) and ‘F=31f’ in Q. No. 2(d).

1x2=2
Y

T AR 2(c)~CS A W T GR & IR 2(d)-CS A GIE’ o4

—~ L
g IRTE WOT T3

(c) Name and expound the Samasa of 'ITEURYIE in Q. No. 2(a) and

‘S in Q. No. 2(b). 1x2=2

G AR 2a)-C A " STTAHRONA " G2 2080 FYH 2(b)-C 2t yrafrarey”

A4 5% WA G AN @0
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> Hlucidate i
AUe the idea campa: . :
W idea conlained in any one of the following : 3

WU oy oy t»ﬁﬂ*zfmmq Al g
(@ SRS 5or 33 e a5 |
a1 @R T )

(b) 3“3@5?1131@75@3@@5@ w§ H

e aa"m TUTTEEHSE FA1aT: ||

6.  (a) Write.after ’SrTmadbhagavadgi’ta ’, Chapter-II, the description of the

yoga of Selfless action (Niskama Karman). 6
‘Haesier-ga B wgm Wﬁ'ﬂﬁﬂ Gt w7l R Ginill

(b)  Write a short note on any one of the fbllowing : 2x1=2
sfiRe @ @ ga g Tor g Bt ewar s
TSI, ‘QTH&:IW:,-HW:, e, Bﬁ‘l”ﬁl’-‘[l~

7.. Present the charming description of confluence of the Ganges and Yamuna

as you find in the 13th Canto of the ‘Raghuvarh$am’. ' 4

I -GF G el Al 4= W SR AR A G0 AART 90
Torgind S| |

Or/9qr

Give the description of the pleasure lake of Satakanﬁ ;

mcﬁgﬁalfﬁﬁwﬁawm'
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— Who i the speaker here ? Why did the speaker say so? Under what
crcumstances the speaker make the above remark ? 1+1+2=4
SUTW TS (X7 TS @F (OR WEE 78 & «8F5% 0 s v
K= -"\; ‘\;: ’:
: e O N - b
9 T ! OFTE e e g
— Who is the speaker here 2 Whom did the speaker sav so 2 What was
the policy adopted to protect the serpents as referred to in the above
sentence ? . 1+1+2=4
— SIF IS (T2 IS I OOR IE( ? TEARE T S WS
TH W|WR TN R T T ]| ;Y
10. Write a note on ‘' {SgX¥E’ metre. 3
‘ >
‘i‘?.ﬁ'xc.ia' ST TAR ﬁaﬁ gl\-i G
11.  Prepare a note on the contribution of Dr. Mukunda Madhava Sharma and
Acharya Manoranjan Shastri to the tield of Sanskrit Studies in Assam.
o
WAL AEE O CFCA © YW W@ Nl G WHR{ VRS M Wawiwa
Torz wafs Tiet wge wcan
32T SANS (BENG) (8]
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12, Ellin the blanks : :
TR S [ ¢
- wlcﬁl‘ﬂi __ﬂ'-{ |

Or/gqYq!

Write the significance of the following line :
FxERe IRHa Sy e 8
‘TEETEy Y YU =rehEe’ |

13. Explain with examples any two of the following : 2x2=4
xRS (@ @A Ffo7 SHEaeTE T T
9 g, ?RZI k| W&?'W&TUTC[, TEGRISTHM, mwﬁmﬁ R
TS : .

14. Choose the correct words for any three of the following : 1x3=!

fraffre @ e ol oa < (@R A 8
(a) s WA, STt/ qUsEd |
(h) e T feged / fegafd
(c) mﬁ?m‘ ai wefa / Tfefa '

32T SANS (BENG) [9] : . Contd,
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(d) W TR A A s
(@ f&<i / famma o wfegoifa

NG Q=1 / et 1= =i |

15, Account for case-ending any four of the following underlined words :

’ | 1x4=4
(a) ﬁ‘rsg TN HRI |
b) FEH: HEHE Gear |
(0 TY: YA FeAfa|
(d) = faufs s |
(@) a_mr"_cr FUEERIEE
() TEEE T A
16. Name and ex-pound the Samasa in any two of the following :
(1+1)x2=4

fFaERe @ @t gfor amaeTz AATER w9 e e

UoEAeH, THME:, FeER:, By, afegen, e, weEn AT |

32T SANS (BENG) - ' [(10]
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17. Write al
AN essav (i 0l '
essay (in simple Sanskrit) on any one of the following : 10

ﬁsmmmmammnﬂmm'mmz
(@ SR

®)

(© EdHrn degh:

(d) =9 Siar wem

() WS SegaRT: e
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